«ERTViR»

LB, RIEH] semeemmmmm
= ax _a
y = y—x

>y I x D2F(CLEAI T D4 mm m

y= ax? a(p +q)
—/REZY weEEEEEEEEEEE
- aldZ bDEIE. tEE. b,
y=ax+b
_ (YOIEME)
B (xDIEME)
R DEEE

y=ax+b --Q
y=mx+n =--Q

» 2R 51E
ax? + bx+c=0 D&E=E

—b + Vb2 — 4ac
X =
2a

Pt smmmEEEEEEEEEEn

(T DEERD EEN

XS R =

(E#DEFD
s (EROEDORRD
HE= EHDER
- PRYBE=KEDIE(ICIENRT
TEEDISE
=R
BEEDSES
=ROD2 DDEDFLS
- FRSE(E

ER=REZ <HENBE.
DIER=EHNREEAREME.

<X fm»
PHPOZH, uEsEEEEEEEEEEEEEEEERI
- R
8= 27r X — r 4
360
* E*ﬁ ao
S=r2x -+ S=l{’r
360 2

> NnBEOARAENEOH ssssssssnnnns
- WADF 180°%x(n-2) ShEOF]  360°

» [EADIEE EEEEEEEEEEEEEEENER
- BUIMDBBEADOARE=EEL __P

LP=4Q

- BEA R OADFESD
£Lp=220

- ¥MODINDMRE (900

=
3/

P IITHROBMNAE, (S fusssssssssnnnn
¢ ﬁ'fﬁ%(i% L/l/\ e > /.<40
Ty 40°
EAEELL 0
\20

» h e ERE IR IIIIIIIIIIIIIIIIIII

AM = MB, AN=NC D &=
NM // BC

NM = % BC
» = HDFEE

a’ + b? = ¢?

» ZE [ XA
- #EARDKRIE - BkoOXRMmia, A I1&
1 4
V=§SH S= 4ny3 V=§7Tr3



